N of associated (recoToSim) looper tracks vs dxy

N of reco track vs dxy N of associated (recoToSim) tracks vs dxy

9] 1%} 4] 0
x x < x
[=} Q o (5]
g g g 8
[} &) Q
10* g & 8
Ey
o
10°
K
10? ‘
o v R S Rk ooV orgmaT ‘
T DQM_ TT man DQM_ ongmal newwindows
['4 ]| H ‘”\‘ I\lH”HI\““””IlH T I\‘mlu‘ m‘”‘l M =
R
0 3 BERUR R AR I SR 0.5 ‘”H” ] um m uuu .
'—525 -20- 15 10 5 0 5 10 15 20 25 "=25-20- 15 10 -5 0 5 10 15 20 25 55 20 15-10-5 0 5 10 15 20 25 -25- 20 15-10 5 O 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
[N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
1%} 2] 0
] s S
8 g 8
[} &) Q
2 10¢ & g
Ey
o
o =] H =]
3 s 1 H 3
14 o ¥ ”H 14
O'—BO -20 -10 O 10 20 30 0'—30 -20 -10 0 10 20 30 0'—30 -20 -10 O 10 20 30
track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


